Zatgcznik do uzasadnienia

Czesé A - 14 815,00 zt

Dziat:
Dziat:
Dziat:

900 Rozdziat: 90095 84307 — kwota 6 666 A940)
900 Rozdziat: 90095 84309 — kwota 7 407 FI)
900 Rozdziat: 90095 84309 — kwota 740,83%)

Cze$é B — 10 055,00 zt

Dziat:
Dziat:
Dziat:

900 Rozdziat: 90095 84307 — kwota 4 52449%)
900 Rozdziat: 90095 84309 — kwota 5 027EW0)
900 Rozdziat: 90095 84309 — kwota 502,79%)

Czes¢ C — 8 485,00 zt

Dziat:
Dziat:
Dziat:

900 Rozdziat: 90095 84307 — kwota 3 818 4296)
900 Rozdziat: 90095 84309 — kwota 4 242 5I)
900 Rozdziat: 90095 84309 — kwota 424,28%)

Czes¢ D — 20 271,00 zt

Dziat:
Dziat:
Dziat:

900 Rozdziat: 90095 84307 — kwota 9 121 485%)
900 Rozdziat: 90095 84309 — kwota 10 1335D0)
900 Rozdziat: 90095 84309 — kwota 1 013,68%)

Czes¢ E — 2 763,00 zt

Dziat:
Dziat:
Dziat:

900 Rozdziat: 90095 84307 — kwota 1 243 83%)
900 Rozdziat: 90095 84309 — kwota 1 381 500)
900 Rozdziat: 90095 84309 — kwota 138,15%)

Czesé F — 8 953,00 zt

Dziat:
Dziat:
Dziat:

900 Rozdziat: 90095 84307 — kwota 4 0284320)
900 Rozdziat: 90095 84309 — kwota 4 47qEW0)
900 Rozdziat: 90095 84309 — kwota 447,68%)



